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and =0, by Parseval’s Theorem,
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COuestion T

{a) We use equation (18.13) withm =5, h= L:
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Since
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st dsr+ sy= A0, (2
s+ 48l = 5 (3]

Now (1) amd (3) give

dgh + 2s5 + ds) =10,
and together with (2} thiz gives sp = s = =504, 5, = 504, Using {18:4},
{18.5), [15.6) it then follows that
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(b) Using {19.24) we have
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